Height Scatterplot Lab: Student Handout
Mathematics
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Can knowing someone’s foot size accurately predict their height?
[image: ]1. In order to start this investigation, you will need to [image: ]collect data and then analyze the data. Measure as accurately as possible to the nearest tenth.
[image: ]
2. Using a separate sheet of graph paper, make a scatterplot of the above data. Foot length should be the x-axis. Remember to attach it to this lab.

3. Does your scatterplot show a negative, positive or no correlation?  ___________________ Explain how you know this.


4. Draw an estimated line of best fit on your scatterplot.

5. Use your line of best fit and predict the height of a person with a foot length of 32 cm. 
__________________cm
6. Use your line of best fit and predict the foot length of a person that is 183 cm.  _________cm

Perform a linear regression using technology:
7a. Input the table’s data from question #1 into the graphing calculator. STAT, #1 EDIT, L1 is foot length, L2 is height.

7b. Have the graphing calculator make a scatterplot. 2ND Y=, #1, choose ON, Scatterplot pic, make sure Xlist is L1 and Ylist is L2. ZOOM #9 ZoomStat, or adjust the window by hand by choosing WINDOW, and adjusting Xmin, Xmax, Ymin, Ymax.

Does the graph you made resemble the graph the calculator made? _____________ Explain.


8. Have the graphing calculator determine the exact line of best fit and the correlation coefficient. Select STAT, CALC, #4 LINREG (ax+b)
a= 
b= 
y= 
r=
If the correlation coefficient, r, does not appear, turn diagnostics on by choosing 2nd, catalog, scroll to Diagnostics On, select and hit ENTER. You will then recalculate the line of best fit using the steps above.
9. Is the line of best fit given by the calculator strong? Describe how using the correlation coefficient helps you to analyze the fit of the regression line.
 
10.  Use the equation from the calculator to redo Question #5. Input 32 into the x in your equation and solve. SHOW WORK


How close were you when you used your own line? ______________ What could be the reason for the discrepancy?


11. Use the equation the calculator gave you to predict the height of a person with a foot that is in length. SHOW WORK
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